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R (u) The qruemrm ﬂa;wrmnmrs of_?-ﬁ que\rmm (lm(lea' mmﬁmr seets nw\, 3, o
PR eom;m ses rrfm que\rmm ofl ma:i eadf Serrmn B cruu,rnnu ofS «,rm’\mmc (Jf” Hiarks uuh Lo

'Quemau uambers I 'to 10 in Section A'rue m‘ﬂhiﬂk’
L “eorreet (fp!mn out-of the gn(’ufour ST
o (Ei_’) There is o ‘ov erall choice. However; mtemai c‘hmh _ 0

L Hiarks; 3 quesrfrms of thrée warks mch fmd 2 quevrmm of fam ur(mks eau’: You hive'to arrempr__'
-'(mh oue afrhe alremame\ m ah’ sue '

(.’f} o= ": B‘“ I |
{(}}(1 2 [}*;_

: P are the root-: 01 t!u, cqu‘mon 12
(a) o= l [}— I : :
: (c) a=1/p



trainer
Rectangle


. circleis:

4. If fromapoint 30 ms '1way from the foot of a tower, the angle ol etevation of the lop ot lhe zowcr_ -
is 60° lhcn llu, hcn_hl of lhc tower is ok

AZ .: .:

Tower ..
A
' Q 30m B .
o '(a) 3{)J_ m N (b) l{}ﬁ nt.
A A shulllc cock nsed far p[.!}m" budninton has lhc slmpc of the combination of
NOR eylinderand asphicre " - (b) u'sphere and 2'¢oné”
{¢) acylinder and a hemisphere - (cfy a hemisphere and frustam of cone:
6. If the root of x* + px + 12 = 0 are in the ratio 1 : 3, then the value of P s
{0y £ 6 by £ 7
' (r_} + 8 ' (a'} +9
. Which term of the sequence 114, 109,104, ... is thé first negative term ?
(a) 21st _ _ {b) fzuo '
(c) 24th RPN ey 230

8. A card is drawn from a p‘l(.]\ of Ldl’d‘i numbercd I'to 52. Tllc p[‘Ob.lbl]ll) that the numbu on th'-
card is & perfect square is LR,

. 5 ) 7 _
) = = .(a'J 5

9. The dlffcrcncc bcl\\ ecn the circum fcn,ncc and diameter of a cirele-is 30 cm. The arca of lhc__-' E

“(a) 154 cm—' R {b) 217 c'm
(¢) 135em> - LUl AN - (115 cm
0. if three numbcrs a, b &m ordcr are in A P then-. 5

() 2Bz pir o () 2(,—-a+b
() ..a:_b-{»-f, D 2—a+b+c -

“Question numbers 11 1o 1 S carry 2 markc edc h . L

11. In whatratio does the x-axis divide the ling ‘iC"lI]Cﬂl}Olnln" the points (2, 3) and (5, 6) 7 Also,’

find the coordinates of the point of intersection. r E
- Or

H P(x, ¥)-is4any point on the live joining the points A(a. 0) and B(O, b). then show thiat 3“1-%: 1o
h o LI




12, 1F 2.is & root of the equation +% + kx + 12 = 0 and the equation ¥* + kx +_ q = ( has equal rools,
t'nd the value of ¢.

13. 500 persons took dip in a rectangular tank which is 80 m lons: dl’]{] ﬁ{} m bmdd W}ml is the rise
in level of water in the tank, if the average displacement of water by a person is (104 mt?

14, A letter is chosen at random From the English alphabet. Find the probahility that it is

(i} a vowel {ii} a consonant . .

15. Prove that the tungent at any point of a circle is perpendicular to the radius through the point of
contact,

16, A race track is in the form of a ring who*;é" inner circumference is 352 myand the outer
_mrcumfcmu.c is 396, m. Find the width of the track,

17. The diamicters of the internal and external surfaces of a hollow hemispherical shell are 6 cm.
and 10 em respectively. If it is metted .md recast into a solid eylinder of diameter {4 e, ]md lhc huﬂhl
of the eylinder.. : -

I8. Find the area ot' thc shadu! n.gmn from f'Lure if the diametér ol 'm, urcle wnh u,mr:, Qis

28 cm and AQ = —AB

Quemon numbem 1910 28 carry 3 manLc el sy
19, A hox contains 20 ballg bearing numbers 1, 2,3, 4 ....oonnis . 20. A ball is drawn at random
Irom the box, What is the probabitity. the number on the ball is TR
(/) an odd number ? S/ os oty (i) divisible by 2083 7 : S
20, The diameter of a roller 120 cm long is: 84 cm. If it takes 500 complete rc\foiuunns 10 ]cvc] a.l
playground, determine the cost of feveliing it at the rate of 30 paise per square metre.. - .75 '
21, In Ngure, common tangents AR and CD to two circles intersect at E. Prove I}m AB= CD

_ 22\ Prove that in two concentric circles. the ¢hord of the larger circle, whictt teuches Ihc smaller .
cm.!t., is hiseeted at the point of contuet..




" : cftch would have got T 160 fess. Find the ofiginat number of persons,

AP

23, Frove that dmmclu AB ot acircle bisects at[ those chords which are pamllct (o the t ta
l!u,pmnl,q e s .

24.. How many silver coins, . 7‘5 cm in dhumlu’ and of lh:cl\nu,x 2 i, must bc mctu_d to. }orm a
cuboidh of dimensions 5.5 cin x 10 cm x 3.5 cm ? S

A hcuusphc.nca[ mnk fu]] ol' w'ncr is cmpltcd by a plp(. at l]u_ rate nl 3:{ hlm er m,cond Howd

rauch time wift it take to empty half the lank if it is 3 m in diameter 9 R
.25, Find the aren of the shombus iFits vertices are (3, 0), (4. 5} {~ t. 4) and (— 2, - D'taken in'order. "
"26. Two ships are sailing on the sea on etiber side of the light-honse, the angtes of dépression of .

two ships are observed from the top ot the fight-house are 60° and 45° respectively. IF the dlbl:uu.c L

between Ihc ships is 20{)(——‘/3:—/%—]} m, ﬁ'mt the aeight of lighl-housc.

27, Find the number of terms of the AP, : 34, 51. 48,7, so that their sum is 513,
For what vaine of 1 are the nth terms of two AR5 63,56, 67, || ... and 3. 40, £, ..., equat 7 T
28. The dilterence of squares of two numbers is 180. The squan. of the smaller number is 8 tinies -
the targer number. Find the two numbers. :

Or
Solve forx ;- B
[N O

2o e af-{}b:fO.x:tU
a+b+x a b x

Quesrmr: numbers 29 ta 34 carry 4 man(s each, _ . R

29. 1In a Night of 600 kin, an aircraft was slowed down due to bad weather. Ils aw_r'lszc qpce,d tor the N

trip was reduced by 200 kin/h and the tinse of flight incréased by 30 minutes. Find the duration of t‘hnhl.
or

- 9,000 were divided equally among aeertain number of pw.ons Hlad there been ‘?0 morc 'purmm

30. pr umcs the pth term of an A Pi is L(lUdl tog llmm the qth term, 'F'*md lhe. (p + q}lh term of the

. 3L The 'uwh_ of clcvaum of a le ﬁg]mr from i point Aon thc uround is 60° Alu,r a flight of: 10
. 'SLLOHdb the angte of elevation-changes to 30%:-1f the. Jcl is ﬂymg at a speed of 648 kin/hour, lmd the

_ constant height at whicli the jet is Aying. - R U R [Use f 3! 7'%‘31
S 32. A solid is composed of a cy]mdcr wuh llcm:sphcru.al cndb If the wholc length of the solid is
o £00 ¢m and the dinmeter of the hemispherical ends is 28 ¢m, find the cost of polishing the 511rl‘1c1, or:m, 5

. solid at the rate of 5-paise per sq. em.. R

C Water is flowing at the rate of 7 metres per second through a cireutar pipe whose in ra'mal dmmcu_r'_-'_
is 2 emiinto a eylindrical tank the radius of whose buase is 40 em. Determine the incre-yee in the wqu_r_ _
]c\'c] in B2 hour. o




33, You have studied in Class EX, that a median of a triangle divides it into two triangles of equal
areas. Verify this result for AABC whose vertices are A(4, - 6), B(3. ~ 2) and C(3, 2).
34, Prove that the lengths of tangents drawn from an exterual point 10 a circle are equal.
Using the above theorem, prove the following : '
A quadrilateral ABCD is drawn to circumsceribe a ¢ircle, Prove that AB.+ CD = AD + BC.

A B
. 'ANSWERS:
T P R Section ‘A N\ S e
L (@) 2. {a) e B ey
4, (a)y 5 (d) 6. (c)
7. (¢} ' 8. () 9. (a).
o Section ‘B - T
11. 1 :2iaternally and (3.0) 12. . !6 SN / B 13. 05c¢m
14. () = Giiy 2% 16. Widthof the track =7 m 17. 22 em
26 26 , o 3

18. . Arca ;_1925 L

S(.Cll()l‘l ‘C’ o

190 GG 20 %4520

24. ‘\Iumbcr of s:lw..r COMS = 40\} E6 3 mmmu .
25. 24'square units- ¢ 0w 260 He:ghl of llghl-housc = ”(}(} m.

27. n=180rn=19_0r a=13
28, - Two numbers zirc 8 1"’ or 18.= E" Or X=~gort=-h- ... -
T e IR - Section ‘D™ B TR
- 29, Duration-of flight=s 1 honr Or Or:gmal number of persons =25 .
~ 30 (p+gihterm=0.. .. 3L 15588km . :
32 TA0- OrTTSem .




